/DVIRB

3UDFRZQLN SRINADG  GU 3DOXV]HN - DURILQD 7\J

o
0]
=
n
oD
-0
AN AN 7\
—
o3 /RJIND SUDZQIF]D Z GU /RJIND SUDZQLF]D ZDU G /RJIND SUDZQLF]D ZDU G
3DIXV]HN -DURLQD =% U 3DIXV]HN - DURIQD =% U 3DIXV]HN - DURIQD =%
)+ 35% " z )+35% 7 & )+35% 7 &
=
™
7\G] 7\6] 7\G] 7\G]
[a) /RJIND SUDZQIF]D Z GU 3DIXVIHN /RJIND SUDZQLF]D 1Z GU 3DIXVIHN - DURIQD =% /RJIND SUDZQIF]D 1Z GU 3DIXVIHN - DURLQD =% /RJIND SUDZQIF]D Z GU 3DIXVIHN
? - DURIQD =% =)+ 35% = z z)+35% - = .20387(52:% =)+ 35% ¢ = - DURIQD =% =)+ 35% ¢
L
D>: 7\G]
/RJIND SUDZQLF]D iZ GU 3DIXV]HN - DURILQD =%
Z)+35% - =

7\G] 7\G]
g /RJIND SUDZQIF]D 1Z GU 3DIXVIHN - DURIQD =% /RJIND SUDZQLF]D Z GU 3DIXVIHN . DURLQD =%
5 -)+35% - = )+35% =
%)
I 7\G]
=
(o4

)+ 35% - =

/RJIND SUDZQIF]D iZ GU 3DIXVIHN - DURIQD =%




